Quiz 5
100 points (10 points per problem)
(version A)

Problem 1
The following distribution was found when performing a parameter estimation. What is the maximum likelihood
estimate and the standard error? Write the code that generated the axis labels.
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Problem 2
Under what conditions is least-squares fitting the same as a maximum likelihood estimate of the parameters?
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Problem 3

Write code that would create and then use an anonymous function.
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Problem 4
The probability distribution below is being explored using Markov-Chain Monto-Carlo. If the chain starts at 'A’, what is
the probability that a jump to 'B', 'C', or 'D' is accepted? How did | put the letters on the plot?
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Problem 5

What program did/will you use to generate your Latex document for homework 10? List two advantages of using Latex
over Microsoft Word or other word processors.
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Problem 6
List four significant differences between Matlab and Python.
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Problem 7
Match the code block to the figure.

figure
plot(X,cos(X))
plot(X,sin(X))

figure
plot(X,cos(X))
hold on
plot(X,sin(xX))

figure
plot(X,sin(X))
hold off
plot(X,cos(X))

Problem 8
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A set of numbers X = {o1.#2..x } are drawn from the exponential distribution: Ple{A) = A" show a derivation

for an analytical expression for the maximum likelihood estimate of A given the data set .X.
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Problem 9

Write code that would create and then use a class.
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Problem 10
What was your favorite aspect of 2907
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